AP Calculus BC — Unit 5, Part 1 Extra Practice

5.1 - Extra Practice

7\ On #4b and #5b, sketch the region by hand (no calculator) and find the area enclosed by the curves (integrate by hand).
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On #4b and #5b, sketch the region by hand (no calculator) and find the area enclosed by the curves (integrate by hand).
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On the rest of this assignment, sketch the curves and find the area enclosed (use your calculator for the sketch and the
integral evaluation). '

N alafﬁb.y:(x—l)3 and y=x-1

1

rom A

\ T |
;S ( cx«n’t(xﬁﬂmﬁ [0 -l A,
& | ]

#7b. y=—x"+2, y=x-3, x=-1, and x=1

. { 4[(_,;;@)«(,’#3)12 Ax

e mrinaas s




T A 7 eafier o ?f?ﬂ}
o xRy nd 5  drere by hant’
ihfemecns . éét’ =2y
¥ =Y
—y =2y —
’L.__g =0
V, J
X syom =
y=0 J7F

¥ =0 x="2
{° (19) (’3{})

\( A= { [y -(-45] dy z

= 3 %33’;%}”) dy

e 7, |
: -3 :
’A;j [EnnlA-zsnl)dx 4«} [ 25000t (5] A |

b S

3048528 & 2068 28197

o
e




5.2 — Extra Practice

Sketch and find the volume (use your calculator for the sketch and the integral evaluation).
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#ob. y=2x>, y=8, x=0 about the y— axis |
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#11b. y=x"—4x+9, y=2x+1 around x =1
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5.3 — Extra Practice
Sketch and find the volume using shell method (use your calculator for the sketch and the integral evaluation).
#7b. y=x>+3x, x=0, x=3, y=0 around the y - axis
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#7c. y=sin(x), x=0, x=§6£, y=0  around the y —axis
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- #9b. y=x2, y=+x around y =3
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#10b. y=-2x+8, y=0, x=0 around x=5
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#11b. y=x°, y=0, x=2 around x=4

a) using Disk method...
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#12b. y=x* y=0, x=1, x=2  around the x — axis
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